Math 31L Lab Quiz #3
Blake, Fall 1997
Name:

1. (10 points) Suppose f is a continuous function that is monotonicaly incressing over the interva
[ab]. Lig the following quantitiesis order from smdlest to largest.

A. [f(t)dt B. Right-hand Sum with N =5 0. C. Right-hand Sumwith N=100.

a

D. Left-hand Sumwith N =5 0. E. Left-hand Sumwith N=100.
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2. (6points) Let f(z)=z+ % for 1 < 4. Suppose we use three subintervals to construct a
4

Riemann sum to gpproximate [ f(z)dz. Circle the smalest possible value the Riemann sum could
1

have, and circle the largest possible vaue the Riemann sum could have.
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[A graph of f was pasted here]

1 1 1
135 14§ 155

20
3. (5 points) Indicate the definite integral which is gpproximated by thesum 5 sin(’g—” )5 -
k=1

5
4. (9 points) Circle every sum below which isagood approximation of fx3dx.
1

1000 999 999

S (1 4 .004k)3(.004) S (1 4 .004k)3(.004) S (1.002 + .004k)3(.004)
1000 799 400

S (.004k)3(.004) S (14 .005k)3(.005) ST E3(.01)

k=1 k=0 k=1

500 500 500

S (1 + .004K)3(.004) ST (1 + .008KP (.008) S (.008K)? (.008)

k=1 k=1 k=1



